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UL 0o B.C:Mx=0)=0, M (x=a)=0, for 0< y <b
ox~ oy OX OX
u(x,0)=0,u(x,b)=1,for0<x<a
(1)Let u(x, y)=X(X)Y(y), then show the new boundary conditions associated with X and Y.

(2)Solve u. [90ZEFR} A A#hHA]

(1o u= XY [RATTEER = XY + XY =0= v )2
ERETTEZ X+ 22X =0,Y" =Y =0
\ 0 0 , ,
EE”\%W%{%—E(O’ y):o,a—im, y)=0= X'(0)=0, X'(@)=0

H X 97522051 X = C, cos Ax + C, sin AX
{X'(O):O:Czkzo

] =C,=0,sinha=0=>Aa=nn
X'(a)=0=-CAsinAa+C,Acosra=0

IR, :%‘: X, = cosh, X

Y 89 5f2=41Y =D, e + E e
HEFLEIEU(X, 0)=0 =Y (0)=0= D, +E, =0=E, =D,
Y =2D, sinh(x,y) = F, sinh(%.y)
u(x, y) =%%+Z F. cos A xsinh(k,y)
n=1
REMEFRAFUX D) = 1A > 15
1 :%+Z F, cosi xsinh(A b)= FIFTEF, =0,n=1,2,3,---> M F, =2

n=l1



